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1 Introduction
The IDLE/INACTIVE state cell re-selection requirements were discussed at previous RAN4 meeting, and following agreements were reached [1]:
	· Mm,max is used to denote the maximum value of Mm (Mm≤Mm,max).

· Md,max is used to denote the maximum value of Md (Md≤Md,max).

· Me,max is used to denote the maximum value of Me (Me≤Me,max).

· Mm,max: 
· TBD for 0.32 DRX cycle length
· [8] for 0.64 DRX cycle length
· [4] for 1.28 DRX cycle length
· TBD for 2.56 DRX cycle length
· Md,max=[4]*Mm,max
· Me,max=[2]*Mm,max
· Mn=[2]


In this contribution we discuss the values agreed as TBD and present our proposals. 
2 Discussions
2.1 Values of Mm,max
The values of Mm,max are TBD for following cases:
· TBD for 0.32 DRX cycle length
· TBD for 2.56 DRX cycle length
The values of Mm,max have been resolved for following cases:

· [8] for 0.64 DRX cycle length
· [4] for 1.28 DRX cycle length
The principle used for deriving the values above is that UE measures once every DRX cycle and the measurement delay increases with longer DRX cycle and number of LBT failures. More specifically, with increased DRX cycle UE needs to wait longer time to complete one measurement/evaluation if UE failed to take sufficient number of samples within the measurement time compared to the case with short DRX. Therefore the number of LBT failures should be lower for the larger DRX cycles than for the shorter DRX cycles. Following this approach, we propose to set Mm,max=16 for DRX cycle of 0.32 seconds. Following this approach also for DRX cycle of 2.56 seconds yields Mm,max=2. However, maximum allowed LBT failures of 2 is quite stringent, and thus we propose to set it to 4, which is same as used for DRX cycle of 1.28 seconds. 
· Proposal #1: Mm,max =[16] for 0.32 s DRX cycle length, and Mm,max = [4] for 2.56 s DRX cycle.
2.2 Reselection criteria

RAN2 has agreed that UE is required to check N number of cells on a frequency before searching for cells on a different carrier frequency, where N is UE implementation dependent, and UE is required check at least two cells on each frequency. Typically, the UE reselects to the strongest cell on a frequency provided that the cell fulfills the reselection margin. The reselection margins for a target that belong FR1 are as follows:

· 3 dB for an intra-frequency cell

· 5 dB for an inter-frequency cell based on ranking

· 6 dB for an inter-frequency cell for SS-RSRP reselections based on absolute priority

· 4 dB for an inter-frequency cell for SS-RSRQ reselections based on absolute priority
The RAN2 agreements only state that the UE is required to check at least two cells on a frequency before checking the next frequency. It is important that the two cells which are checked also fulfills the re-selection margins, this means they could be the second and third best cells among the list of cells which have met the reselection margin. For example, assuming that UE has detected cell-1, but UE is not allowed to reselect to that cell for some reason (e.g. different PLMN). Then UE checks two other cells (cell-2 and cell-3) in the same carrier frequency. Cell-2 and cell-3 are such that they have fulfilled the within the reselection margins, but weaker than cell-1. In order to avoid ping-pong effect, i.e. reoccurring re-selection attempts between cell-1 and cell-2/cell-3, it is important that cell-2/cell-3 are not much weaker than cell-1. Generally speaking, the ping-pong effect can be avoided by requiring the two cells which are checked by UE are not X dB weaker than the strongest cell given that they also fulfill the reselection margins.

· Proposal #2: Two cells which are checked by the UE for cell re-selection on each frequency are such that they are not more than X dB weaker than the strongest cell on that frequency, and they also fulfill the reselection margins, where value of X is TBD. 
3 Summary
In this contribution we have discussed the maximum values of Mm which were agreed as TBD for some cases, and made our proposal. We have also discussed the RAN2 agreement related to the minimum number of cells UE shall check on each frequency before checking next frequency. Based on the discussions, we have made following proposals:
· Proposal #1: Mm,max =[16] for 0.32 s DRX cycle length, and Mm,max = [4] for 2.56 s DRX cycle.
· Proposal #2: Two cells which are checked by the UE for cell re-selection on each frequency are such that they are not more than X dB weaker than the strongest cell on that frequency, and they also fulfill the reselection margins, where value of X is TBD. 
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